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EERREMSHEE=2) AT (REGUERSFFE12E)HFER
(ST E7H25B~8A58EE)

[RF A K EIR et FTARER (RETHRDT)
BEEKEMERARE (REFHID
AEHE R4 A1 Sv/h)
No. | rivBr#t w5 EREE T BE | soom BEAR %R (B3R - 4B D FI91E) %
o sm | ®11E | 4@ | ®m | 4@ | =um
HERR | Haee | Beee | Hass | BEes | Haee
] \ 50cm 0.09 0.09 0.08 0.08 0.11 0.11
106 | ZARHATH WEERIREYIST |(IIBREHST 78308
1m 0.08 0.09 0.07 0.09 0.10 0.11
50cm 0.08 0.09 N gl
107 | =S Zot I R T R AT 77308 ) S ELRNSENTD. ZROARE
1m 0.08 0.09
] X . X 50cm 0.06 0.07 B A O L ZBIAEL V=8 . KD AT
108 | ZAWT | ME®REIST |RKHFEYIST 7A30H FPHAL NG AR OARE
Im 0.06 0.07 [EIRES] #®L
] ] o 50cm 0.15 0.15 0.09 0.09
100 | ZART | MESFELEE |BEEVLTELRE(ATARME) | 78308 [EREZ] ®mL
1m 0.16 0.15 0.09 0.09
50cm 0.06 0.06 0.06 0.07 0.07 0.08
110 | fEd | REE-REwLS— (FEHHFERESE 78308
1m 0.05 0.06 0.06 0.06 0.07 0.07
50cm 0.09 0.09 0.10 0.09 0.11 0.11
111 FET | REE-REtLS— |ELURESE 78268
1m 0.09 0.09 0.09 0.10 0.11 0.11
50cm 0.08 0.08 )
12 | e Z0ft 2JIIRFIREAR 78298 ENMER O] EFEZ 104 8%
1m 0.08 0.08
50cm 0.12 0.12 007 0.09 0.11 0.11
13| (EW | KB®RESST |BBERESSD 78298
1m 0.12 0.14 0.08 0.09 0.11 0.12
\ 50cm 0.14 0.15 0.11 0.12
14| (HEW | KEBRRESST |[gEtLRESSD 78298 [EREZ] =L
1m 0.14 0.15 0.11 0.13
\ 50cm 0.09 0.09 0.07 0.07
15| BEm | WERERESST |ALCHRESSD 78308 [EREZ] ®mL
1m 0.09 0.10 0.08 0.08
) 50cm 0.05 0.05 0.06 0.05
16| BHEm | WRERESST |[OhAhEESST 78298 [EREZ] =L
1m 0.05 0.05 0.05 0.06
50cm 0.06 0.06 0.06 0.06 0.07 0.07
17| F&Eh WEERIREYIST |bbHOREHST 78298
1m 0.07 0.07 0.06 0.06 0.07 0.07
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EERREMGRE=2) VAT (RERWUERFF 120 HER
(HFHTE7H258~8HA58F M)
[RF A K EIR M HAER (SR
FEERKEXEAI (RFAHY)
BAESS ERREFRBIEME(u Sv/h)
- EESF
No. | mETH 7 HRE R BE | soom BipAR B (s k- 41RO T H91E) o
m |28 | ®m | 4@ | zom | sm | s0@
HEsE | BEre | Pase | HasR | BekR | Baes
50cm 0.07 0.07 0.06 0.06 0.07 0.08
118 | fF&H WEERIREYST |(FIELREHST 7A308
m 0.07 0.07 0.06 0.06 0.07 0.08
50cm 0.06 0.07 0.08 0.11 0.10 0.11
19| fFEm WE®RRESIST |hHEESRESST 7A30H
m 0.06 0.07 0.09 0.12 0.09 0.11
50cm 0.10 0.10 0.08 0.08 0.09 0.09
120 | fFET WEERIREYST |[DELETREHIST 78268
m 0.09 0.09 0.08 0.08 0.09 0.09
50cm 0.07 0.08 0.06 0.07 0.07 0.08 i
Rl
B m 0.07 0.07 0.06 0.07 0.07 0.08
121 | fpEm Z0Oth CELXEBEL - JHOA —————F——
50cm 0.06 0.06 0.06 0.06 0.09 0.10 i
b8 )i
m 0.05 0.05 0.05 0.05 0.09 0.09
50cm 0.08 0.08 0.06 0.05 0.08 0.09
122 | fET Z Dt FETVOEDLYE 7A308
m 0.08 0.08 0.05 0.06 0.08 0.08
50cm 0.09 0.10 0.09 0.09
123 | fET Z Dt RERTENLE 7830H EE] #EL
m 0.08 0.11 0.08 0.09
50cm 0.05 0.05 N e
124 | fpiEm oM |[EERBRETIY—EINEE | 7A298 ) S ELRNSENTD. ZROARE
m 0.05 0.05
50cm 0.13 0.15 0.08 0.09
125 | fET WEERIREYIST |(FLHETHhREHST 78298 EE] &L
m 0.10 0.14 0.08 0.09
. _ ) 50cm 0.08 0.09 0.07 0.08
126 EH ZDh BEMREETAH—ERNSRETF:E| 7TA30H [EEE] &L
m 0.08 0.08 0.07 0.07
. . 50cm 0.06 0.07 B A O ERKBIAEL =80, BRAD A BT
127 FET ZDh vA—LIERLEA—EYIY 7RA308 =% k
m 005| 006 [EEF] wL
) B \\ i 50cm 0.06 0.06 0.05 0.05
128 | fFEW Z Dt MERETAH—EREF—HMT0VAIE| 7H308 EEZ] \|L
m 0.06 0.08 0.05 0.05
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[RF A K E B M RAE (STHRVD)
BERKEARAR (RFHYD

eSS RSB A ME L Sv/h)
No. | mETH 7 HRE R BE | soom BipAR B (s k- 41RO T H91E) o
o sm | ®11E | 4@ | ®m | 4@ | =um
HERE | HanE | HaRE | TasE | EsE | PasE
50cm 0.13 0.15 0.07 0.08 0.13 0.14
129 | fFET ZDfth FEERICCLLAE 7A29H
im 0.13 0.15 0.08 0.08 0.13 0.14
50cm 0.11 0.14 0.09 0.09 [ %] e
Im 0.10 013 0.09 0.10 [EES] ML
130 | A=W | RER RELI— |ASE—RER 8gil —Fb——————f e e -
50cm 0.09 0.11
[ %R A%
im 0.11 0.12
50cm 0.07 0.09 0.06 0.07 0.10 0.12
131 AET |REE-REL4— |KAEEZRESE 8A1H
im 0.09 0.11 0.06 0.07 0.09 0.11
50cm 0.08 0.08 0.06 0.07
132 | A= ot i FE TR B A— 8H1H [ERES ] mL
im 0.08 0.08 0.07 0.08
S AEDAE 50cm 008 009 it A O ERBIASELM =00 KD HBIE
133 | AEM™ Z 0t HKBAIFVAIE 8H1H FPHAL NG AR O ARLE
Im 0.07 0.09 [EES] ML
] 50cm 0.07 0.09 0.10 0.11
134 | AEW | WE®RESST |ERKERRESST 8H1H [ERES ] mL
im 0.08 0.08 0.11 0.11
_ . _ 50cm 0.09 0.09 0.07 0.08 0.11 0.10 [ AD [ %08 1 EEZ ] Noi42hmEh
135 | AEW | WR®RESST |[BRKERRESST 8H1H [ $ust A D] 15z :
im 0.09 0.09 0.08 0.08 0.11 0.10[ERYF7 (BIRARIIMESE) SH B
_ . _ 50cm 0.1 0.11 0.08 0.10 0.1 0.12 (2 AD [ %8 1 EEZ ] 141l b
136 | AEM | WE®RESST |AERERRESST 8A1H [P AR I 3B JLEES ] N
= im 0.10 0.10 0.09 0.10 0.11 0.12ERYF7 (BEIAZ2A=T1E25—) EHA
- . - 50cm 022| 027) 007} 008  012) 02| wyyw A Jf %P8 )l ERES ] Nod43btsiiER
137 | AE® | WE®RESST |(NEKERRESST 8H1H M A D [ X 1430125
im 0.19 0.23 0.07 0.08 0.12 012|777 (BIRAREFEHER) £ A
50cm 0.08 0.14 0.06 0.07
138 | A= 0t NFA 8A1H [ERES] mL
im 0.09 0.13 0.06 0.07
50cm 0.19 0.22 0.12 0.17
130 | A= M Y, 8H1H [ERES] mL
im 0.18 0.20 0.13 0.16
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EERREMGRE=2) VAT (RERWUERFF 120 HER
(HFHTE7H258~8HA58F M)
[FEF N K EIR % F AR (RETHRIT)
FEERKEXEAI (RFAHY)
BAESS R ERBIEE(L Sv/h)
- EESF
No. | mETH 7 HRE R BE | s0om BipAR B (s k- 41RO T H91E) o
vl em | mm | sm | ®m | em | mm
mass | Hass | Faere | Baer | Pars | Hass
. ) ) 50cm 0.11 0.11 0.09 0.09
140 | AEM BEREBFEIHRE |LWbhhiliky57 (BiRthEX A REE) 8H1H [EEE] &L
m 0.09 0.10 0.09 0.09
. o n = 50cm 0.11 0.11 0.08 0.10 0.11 0.12 . .
m 0.10 0.10 0.09 0.10 0.11 0.12|BREVTTER
- sog e se |BOEDERYST (HRAREHE S0cm 009) 009] 007f 008 O11]  OTOFf gy A I %P9 I EIAES ] Not35HURER
142 | XREH MERFELHE 8A1H
7 4E) Im 0.09 0.09 0.08 0.08 0.11 0.10|EREVTITERXMA
s = : 50cm 0.22 0.27 0.07 0.08 0.12 0.12] .
m 0.19 0.23 0.07 0.08 0.12 0.12|EREYS
50cm 0.06 0.06 0.06 0.06 0.06 0.07 )
144 | ZIFET | REE-RELS— |RIFWTRESE 7RA25H8 [EhADO ] No145CBYE2REHVSTEHERA
m 0.06 0.06 0.05 0.05 0.07 0.07
. 50cm 0.06 0.06 0.06 0.06 0.07 0.08
145 | ZRYTHET WEERIRESST |CBYSE2REHST 7825H [Euth ADO ] Nol44EiFRT REEL LR
m 0.06 0.06 0.07 0.07 0.07 0.08
. ) 50cm 0.06 0.06 0.07 0.06 0.09 0.10
146 | ZRTHET WERREHIST [CO2HLFELIST 7A258
m 0.06 0.06 0.06 0.06 0.09 0.09
_ ) 50cm 0.09 0.09 0.07 0.08 0.10 0.11
147 | ZRITHET WEERIREYST |(FAEFELIST 7A258
m 0.09 0.10 0.07 0.08 0.11 0.11
. ) ) ) 50cm 0.11 0.12 0.06 0.06 0.08 0.09
148 | ZRITHET WERERIREYST |[FASEFELYSD 7A258
m 0.10 0.11 0.06 0.05 0.08 0.09
) ) 50cm 0.07 0.08 0.06 0.06 0.08 0.09
149 [E RHET BEREBRREYST |[ERFELISD 7RA258
m 0.06 0.06 0.06 0.06 0.07 0.08
50cm 0.11 0.12 0.10 0.12 0.11 0.12
150 | JIM{RET ZDh FAETCIF2ERT—ay 78268
m 0.11 0.11 0.11 0.11 0.12 0.13
. 50cm 0.08 0.09 0.06 0.06 0.09 0.10
151 JIMRET WERIRESIST |[hbLvblo35T 7H268
m 0.08 0.08 0.06 0.06 0.09 0.10
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(ST E7H25B~8A58EE)
[RF A K EIR et FTARER (RETHRDT)
BEEKEMERARE (REFHID
AEEE TR B A (B 1 Sv/h)
No. | mETH 7 R B BE | soom BipAR s (s~ ARBD TFHE) e
vl em | mm | sm | ®m | em | mm
HEHRE | BEWE | BERR | HEeR | BaRR | PEeR
) . 50cm 0.1 0.10 0.06 0.08 0.10 0.10
152 | JI{RHET MERFELHE |NEOLVKE(NELARE) 7826H
1m 0.10 0.11 0.07 0.07 0.10 0.10
= SF o - 50 0.13 0.14 0.06 0.07 0.10 0.11
153 | e | mEmeTotgs [Br-OLWREEREORIM ;00 o
1m 0.13 0.15 0.06 0.08 0.10 0.10
) R X 50cm 0.08 0.07 0.11 0.08 0.09 0.09
154 | KEH | HMEERESST |BEEEFELSSD 78318
1m 0.08 0.07 0.10 0.11 0.09 0.09
s |EAMRETELRE KEHBIE S0em 008 008 008 007} 008 007
155 | KEF BEREBEFELHE . 7831H
HgELLS—) im 0.07 007 0.08 007 0.07 0.07
) ) 50cm 0.09 0.10 0.1 0.13
156 | KEH | MEHEFELEE |(AUKRETFELRE(KLARSE) | 78318 BEZ] mL
1m 0.08 0.11 0.11 0.13
50cm 0.10 0.10 0.08 0.08
157 | KE#H Zhith <h7F 7831H [EEE] &L
1m 0.10 0.10 0.07 0.07
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